2.4 Operations with Functions

Mathematical operations may be performed with functions:

Sum of Functions

h(x)= f(x)+ g(x) is equivalentto h(x)= (f + g)(’x_l

Given f(x)=2x+1 and g(x)=x"
determine h(x) = f(x)+ g(x)
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Given f(x)=x"+2x and
g(x) = x* + x+2 determine

h(x) = f(x)+g(x)
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Difference of Functions

h(x)= f(x)—g(x) is equivalentto h(x)= (f - g)(x)

Given f(x)=6x and g(x)=x-2
determine h(x) = f(x)—g(x)
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Given f(x)=-3x+7 and
g(x)=3x" —x—2 determine

h(x) = f(x)—g(x)
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Product of Functions

h(x)= f(x)g(x) is equivalent to h(x) =
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Given f(x)=2x+5 and g(x)=3x-5
determine h(x) = f(x)g(x)
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Given f(x)=-2x"-5x and g(x)=3x+5
determine h(x) = f(x)g(x)
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Quotient of Functions

@

h(x) =+—== can be written as h(x) :(
(x)

i](x) where g(x)#0
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Given f(x)=x"+x—6 and

g(x)=2x+6 determine h(x) = f(x)
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Given f(x)=x+2 and
2(x)=x"+9x+14 determine
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Domain and Range

When given the graphs of two functions we can easily graph the combined function by performing

the operations on the y-coordinates at each point

Written/Edited by:

29

Epp/Poelzer/Smith/Turner/Presta/Robertson/Simpson/Morgan/Hilton




Sketch h(x) = f(x)+ g(x)

fF{x)=x+1
g{x)=—x-3

Table of Values:
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Sketch h(x) = f(x)—g(x)

f(x)=sqr(x+4)
e(x)=(-2/5)*x+1

Table of Values:
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Sketch h(x) = f(x)eg(x) Table of Values:

F(x)=—1x+1 y
g(x)=(1/2)=x+1
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Sketch h(x) = f) Table of Values:
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